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1. This paper consists of 100 multiple choice questions (M.C.Q.). All questions are

Compulsory and carry 01 mark each. There is not negative marking.
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2. Each question has four alternative responses marked (A), (B), (C) and (D). You
have to choose an appropriate answer option and mark it on the OMR sheet.
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3. For marking answers on OMR sheet, follow the detailed instructions given on the
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1. Which of the following in not a solution for global warming?

A. Using compact fluorescent light (CFL) bulbs

B. Planting more trees

C. Reducing fossil fuel consumption

D. Deforestation

fforRea 5 & o9 a1 IRT®s a1 FARE T8 2?

A. BT FARINC gc (HIUHTA) Fodl Bl SUANT BT |
B. 31 U SR
C
D

SATed S99 &1 WUd BT HH HRAT

Al B By
2. Which of the following is considered as major source of pollution in rivers of India?
A Unregulated small scale industry

B. Untreated sewage
C. Agricultural run-off
D. More than one of the above.

fFfoRad # & fhdr wRa @1 AT H UguT BT U@ A AT ST 87

A sl oy S
B S BCEIRGESICI]
c By qare
D SRIAFT H I Th H ARTD
3. Montreal protocol was signed to combat which of the following environmental
issue?
A Ozone depletion
B. Sound pollution
C. Greenhouse gas emissions
D. None of the above
r=faRad H ¥ g waiaRiia 9 | Fues & oy |Jiffgad dieiplid IR gxer
foy U o
A. S INIERRGRICA
B. &g ggyor
C HERE 49 &1 I o
D 3TH | PIg 1 AR
4, Which of the following air pollutants is the main component of photochemical
smog?
A Nitrous oxide
B. Carbon monoxide
C. Ozone
D. Sulfur dioxide

fAforfaa & & I A1 9y YU BIcibfdhe W & i UCH &7
SIS ECICRIES]
P AAINRIES

INIE
N A ESIERCICRIES]
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5. In comparison to pure water, boiling point of impure water

A. Is same

B Increases

C. Decreases

D First decreases then increases

3G ST B AN H IMYE SIeT BT HAAID
A TP SN 8
B.  dgdl®
C. %4 B S B
D.  Ugdl "edl § fiR dgdl &
6. Ozone holes are more pronounced at the
A. Equator
B. Tropic of cancer
C. Tropic of Capricorn
D. Poles
3SiA g 31t W 8 &
A. AT Xl
B. Th @l
C. APR X B HWHCII &
D. gd
7. Smog is:
A Ozone and smoke
B. Vehicular pollutant
C. Fog and smoke
D. Fog and ozone
T #
A S iR g
B. qrgd Uq¥e
C. IS 3R gafl
D. PIER 3R IS
8. Maximum ozone depletion has been observed in which of the following?

A The north pole

B The south pole

C. The equator

D None of the above

A IR ga

B <feror ¢a

C

D STH 9§ BIS W LI

P.T.O.
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9. Which one of the following diseases is caused by water pollution?
A. Conjunctivitis
B. Respiratory infections
C. Diarrhoea
D.

bronchitis
fferRaa 5 & &9 491 9T STl YWY & HROT BT 57
A. 3G 3T
B. SqTAY Tl ff HhHUT
C. o
D. Aiprsfed
10. Which of the following is considered as major source of pollution in rivers of India?
A Unregulated small scale industry

B. Untreated sewage
C. Agricultural run-off
D. More than one of the above

feforRaa & 9 fbd 9Rd &1 AfQal H UguT &1 YR A AT ST 87

A. I g SN
B.  IJUREIRG o]
C. @Y Iyarw
D. SR H I Th H ARD
11. Kyoto protocol was signed to combat which of the following environmental issue?
A Green house gas emissions

B. Sound pollution
C. Ozone depletion
D. None of the above

frforRea & 9 fw waferelig g 9 fFued & oy FIer Uieipid R gwieR fdy

MY o7
A. Mers N BT SO
B. &g ggyor
C. CINIEREERIEa
D. ERL IR

12. Noise pollution is measured in?
A Ohm

Decibel
Joule
Ampere

B
C
D.
eafy ggyoT AT ST 27

3
SIRELS]
Siret
TRIR
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13.

14.

15.

16.

Which of the following best describes environmental chemistry?

A Study of chemical interactions that take place in water, air, land biological
ecosystems, and human activities.

B. Study of only chemical processes that take place in biological, terrestrial,

aquatic, and atmospheric environments.

C. Study of only chemical interactions that take place in water, air, and land.

D. None of the above

ffoIRad § < I TR AR IS &7 a9 3128 guiq hRdl &°?

A o9, aig, 4, sifde wiRRefae 03 &R A wfafafdat # g arel
EraE 3fa: fhametl &1 sraae

Hacl Sifdd, W, STl 3R argAsd ardaERl H g aTell IRIfTaH
Ufehamall BT 31T |

C.  ®ad od, aig 3R qH # B aTell IS ic-fhareil o1 o1 |

D. 39 I Pl T FET |

@

What is the dominating range of light wavelengths in the lower atmosphere?
Less than 100 nm,
Greater than 300 nm,
Between 100 and 300 nm,
All wavelengths are equally present.
ol ArgHS H YPT R <& DI ug@ AW T 27?
100 TAUH ¥ B,
300 UFUH ¥ M,
100 3R 300 TAUA & 1=
aft T e I w9 AoE 2

ON®>» PO N P >

Which of the following pollutant categories best describes cultural eutrophication?
A Noise pollution,

B. Thermal pollution,
C. Soil Pollution,

D. Water pollution.

(AN aN

FefeiRad 5 &1 o A1 ugue ol AiRepfd IS &1 Had BT auie Bl

g?

A. eafs ugu,

B. Y gy,

C. sl &1 gguor

D. Sl UGyl

Which of the following best describes the field of environmental science?

A Study of just human-environment interactions.

B Study of only environment-physical component interactions.

C. Research on how chemical elements interact with the environment.
D Research on how the environment's physical, chemical, and biological

elements interact.

P.T.O.
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f=foRad § | 9 gaiaReT fas| & &9 & e 3187 9uid HRal &7

A. Pael AFI—IITaR0T Aa:fehamsil &1 s
B. PIel GIER—HIad Teh Ad:fhar &1 g
C. I ded TATaROT & A1 S WU B &2 59 U I
D. IR & Hifdd, YIRS IR Sifdd d@ 9 IR fihar &)d €, 39 ™
STRT PN |
17. Which one of the following is true about water vapor?
A Water vapor is the liquid phase of water
B. The gaseous phase of water.
C. The solid phase of water
D. All the previously mentioned

Stofary & aN § faefoRaa § 9 w1 9 87

A. SIS g &l @Rl oR0T &
B. Ol T IR AR,
C. U H 3™ AR
D. SENESEGE]
18. What is the procedure for clearing a region of its forest cover known?
A. Forestry conversion;
B. Deforestation;
C. Pollution;
D. The greenhouse impact.
T ST a1 &5 BT A% A DI FIT UiehaT 57
A. CLUBCAIEIRL!
B. Al B BT
I
D. DIEESRRCICH
19. Which of the following processes is used by farmers to clear forests of trees and

burn plant debris?
Room culture,
Jhum cultivation,
Crop cultivation,
Reforestation.

ST & STl Dl ATH B 3R Ulell & Held BT St & forv fa f=fearlRad o
GfshaT BT STATT BRI B2

el AR,

S[H T,

B DI W,

YR |

_UOPJP_/ti/ﬁ;,UOFDP
X s
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20.

21.

22.

23.

Which honor is bestowed on rural dwellers or groups that have made noteworthy
contributions and demonstrated a commitment to safeguarding wildlife across the

nation?

A The Arjuna Award,

B. The Padma Bhushan Award,

C. The Rajiv Gandhi Wildlife Conservation Award,

D. The Amrita Devi Bishnoi Wildlife Protection Award.

DI AT T 39 T et a1 wEl o g Srar @ R Seeraig
ARTe fear 7 ok g <97 § g=goial @ gRem & oy ufdagdr welRfa & &7
A. 3T REPR

B. U T GWIR,

C.

D

RTSHd Tl g=Iild HRETI JREPRR,
3T <4l fawg g=goilg ERev JRIPR |

What is the full form of DDT?

A Dichloro diphenyl trichloro-ethane,
B. Diphenyl dichloro trichloro-ethane,
C. Dichloro diphenyl triphenyl-ethane,
D. Dichloro diphenyl trichloro-ethane.
DDT &I guf w9 T 87

A. SEFAR! B TsdFaRI—T2H,
B. SHd SRRl TSdaRI—T,
C. SEFART fSBfa gsmia—TeN,
D. SEFART B TSaFalRI—UH |

Which of the following doesn't makeup DDT

A. Carbon,

B. Fluorine,

C. Chlorine

D. Hydrogen.

forferRaa § & ®19 DDT &Y g+raT 87
A. Eackt

B. FARI,

C. FARI,

D. HESISES

Which of the following is a degradable pollutant?

A. Chemicals,

B. Metals,

C. Vegetable Wastes,

D Plastic

freferiad § 9 o9 A1 U ey ugue &7
A N,

B o1,

C eoll 3Ufree,

D AT |
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24.

25.

26.

27.

Which of the following has not become a global concern since the development of
environmental biotechnology?

A Marine pollution
B Oil spills

C. Topsoil erosion
D Global warming

qafqeoiig Sa SERTE @ R & are § FreERfed § 9§ e | ARae R o
v 8 997 T 27

A ST g
B. SEACARESSIC]
C. S AT BT b
D. TG T

Which of the following does not contribute to the decline or extinction of species?
A. Land conversion,

B Unsustainable resource extraction,

C. The introduction of foreign species,

D. Reforestation.

frfead & & o1 A gonfoat & g ar fage g & arerer 8 <ar €7
@ wuiar,

ATReR AR fsHyor,

faceh gonfoai &1 R,

AR |

The main factor contributing to environmental degradation is .............
A. Bio-magnification,

B Nitrogen deposition,

C. Quorum quenching,
D

. Lyophilization.
GITeRONY &RT H NTEH S ATell J&F BRS ... g

STg—afTaeid,
msfﬁ\—rm ST,

mﬁv—msﬁw |

0N w>

o0 w>

Which of the following techniques for getting rid of solid waste releases organic
contaminants into the environment?

A Landfilling;

B Incineration;

C. Phytoremediation;

D Biological treatment.

P-300/xs (4) 10 8



28.

29.

30.

SR JURTE | GSHRI UM &l F=fIRad 3 | DI Al qobeildd YATARYT H BIal~h
W@ﬁ@ﬁ%‘?

o0 w>

i

Under the air act, 1981 which body is empowered to set standard for ambient air

quality?

A Ministry of home affairs

B CPCB

C. Ministry of forest and environment
D. State ministry of home affairs

IR ST, 1981 & T84 b9 Moy &1 yRdell 9y quresr & fofy A
e oo @1 iR &7

A VEREISE!

B. KIEINICl

C. I Ud TR HATC
D. 15 [8 HATT

The Central pollution control board (CPCB) is authorized to look into matters of
environmental pollution. Where is this authority derived from?

A Environmental (protection) act, 1986

B. Water (Prevention and control of pollution) act, 1974

C National green tribunal act, 2010

D National environment tribunal act, 1995.

A
B. ST (IGHYT @1 AHATH aiR o) S, 1974
C. I R SrferaReT Srfef+, 2010

D ML TR0 <ITATRIRROT A4, 1995.

Settlements which have been established inside the forest by the forest department
of any state government for forestry operations are:

A Forestry areas

B. Gram areas

C Forset villages

D.

Habital township
fredY Y YT WRAR B 949 fA9FT gRT a9l BRI & forv SiTel & 8fex o IRar

T & TS € T E:
A CIECARCE]
B I &
C BRie T
D SIEISIREEESI]

P.T.O.
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31.

32.

33.

34.

Who has the ownership right over a body of a dead wild animal?
A Founder of the body.

B. State Government/central government.

C. The person who bred the animal.

D. The person who hunted down the animal.

el g STl IR & w1a WR AiferdT g6 fhvaaT grar 27
IRR & AP,

I RPR /DG AP,

I8 aafdd R STHaR &1 a1 |

I8 fda R SIHaR &1 RiaR fdar |

0N wp

The Rio declaration is also known as:
A Earth Summit
Global investor's summit
Global Maritime summit
None of the above

B.
C.
D.
RAT G190 B 39 AW A W ST ST @
A.
B.
C.
D.

IRaPd FRR T
aR¥qd fHaere RrER a7eH
IRgw FE RreR F e
3 H Pig AT AR
Where is the headquarters of UNEP located?
A Vienna
B. Geneva
C. Nairobi, Kenya

D. Netherland
UNEP &T JTad dal Rerd &7

A. o

B. ISREI

C. R, BT
D. Heveis

Which is the most abundant greenhouse gas in the atmosphere?
A Methane

B Nitrogen Dioxide

C. Water vapour

D Carbon di oxide

TS ¥ i TR AT U S Al feEes i B @ 2

A DL

B. S IES SRS ESICSIES
C STl g

D PHIaT SIS
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35.

36.

37.

38.

NGT stands for:

A National Green Tree

B. National Green Taxes

C. National Green Tribunal
D. National Great Tribunal
TAGET BT Adod &

A Y BRT gt

B. I BRA AR

C. I BRT ATATRIHROT
D. TSR AR AT HR]

Where is the headquarters of the IUCN located?
A. Paris

Which of the following is one of the six pollutants under Kyoto protocol regulations?

B. Switzerland

C. New York

D. None of the above
IUCN &1 HITeTd el Rerd &7
A. IR¥

B. RaesRas

C. RRIEY

D. THAPS -

A Chlorine

B. Phosgene

C. Carbon mono oxide

D. Perfluorocarbons
fferRea 5 & o9 a1 el Uieiaid F9Hl & d8d B8 Ugudl 4 4 Ud &7
A. FARI

B. % fadel

C. BT AT RIS

D.  RWRIBEA

How many biogeographic does India have?
A. 5

B. 6

C. 8

D. 1

IR # fhaw Sa—drmifers 87
A. 5

B. 6

C. 8

D. 10

P-300/xs (4) 10 11
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39. Lime is generally added to .......... soil.
A Salty
Dry
Alkaline
Acidic
JIMAR W ... et % fiemar T 7
DA

q&n
SINR]

SR

_UOPUPpﬂ_UOP’

40. . is one of the most prevalent hotspots of biodiversity in India.

A Himalayas

B. Western Ghats

C Ganges

D. None of the above

......... IRd & 39 fafdear & we yafera gewdic § 3 e 2

A. IRIER)
B. qf¥edl g1e
c :
D

T
ERUISIEININ K

41. ... is one of the least porous soils.
A Peat soil
B. Loam
C Clayey soil
D None of the above

...... a9 ¥ foagad el 4 9 & B |

A. Yie fAed
B. el 9z et
C N
D 3H | PIg I AR
42, e is an example of ex-situ conservation.

A Sacred groves
B. Wildlife sanctuary
C Seed bank

D National park

........ d—T RETT BT UH SATERT 2 |

A CICERSECE]

B. TG IIRTY
C EISACED

D A e

P-300/xs (4) 10 12



43. ... is not generally seen in biodiversity hotspots.
A Endemism
B. Species richness
C Loss of diversity
D Lesser inter-specific competition.

AR W g fafderdr arel gfewic § 981 <1 ST © |
A. EIBESI]
B. TSIt

C. fafderdr &1 g

D HH far—fafdee uforger |

44, ... occurs when the death of the last individual in a species occurs.
A Adaptation
B. Phylogenic diversity
C Speciation
D Extinction

..... q9 BT § o9 et gonfa & $ifow aafdd @ gy 81 S 2
A. S RG]

B. Brsarol—e fafdedr

C.

D

ENIRIEaI
fagw 8=
45. ... is defined as an ecological state of a species unique to a specific geographic
location.
A Exotic species

B Endemic species
C. Ecosystem
D None of the above

..... &1 bl fafere Himfore Yo & forg afgcia gonfa & aRRerfde Rerfa @
wu H aRaTe fbar T 2|

A. [EESI NI
B. TS gorfaar
C qiRRerfaa
D 3TH | DI W AR
46. e is the forest cover to be maintained as per the National Forest Policy (1988).

A 67% for hills & 33% for plains
B. 37% for hills & 11% for plains
C 17% for hills & 23% for plains
D None of the above

P.T.O.
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47.

48.

49.

I a9 i (1988) @ STTAR ITY I@T ST ATl a9 AR ......... =
A eIl @ forw 67% iR A godl & folv 33%

B eIl @ forw 37% iR A gl & folv 11%

C eIl @ oI 17% iR A gl & foly 23%

D 3TH | PIg W1 AR

......... is defined as the number of species represented in a specific region, landscape
or ecological community.

A Coevolution

Commensalism

Species richness

Population density

.......... ! fpar falkre &=, uRewa a1 uIRRerfae wger o wfaffec @1 S arell
gy &) T & wU H uRyivd fear war g

OO0

A. Tefder

B. KEGINE

C. goTfcr gl
D. ST gcd

Global warming can significantly be controlled by ...............

A Increasing solid waste

B Reducing water wastage

C. Burning human-generated waste
D Reducing fossil fuel consumption

TGS AT B ERT Aeayul w9 ¥ RIS fear S wadar 2
A ggdl ST BN

B. T BT gaTaT B BRAT

C. HAFI—ST+Td AR STAT™T

D SATed 399 &1 WUd HI HH Bl

.......... is the basic unit of classification and a taxonomic rank.

A Species
B. Genus
C Class
D Order

........ FIHTHRT B ol 3HTE AR T fiapeor ¥ 2 |

A. goTTferit
B. Sifa

C e

D e

P-300/res () 10 14



50. Which of the following animals is now extinct?

A. Tasmanian tiger

B. Tasmanian devil

C. Pademelon

D. Quoll

ffaRad % & o a1 SR 919 faga &1 T 27
A. TS 91"

B. gefars Sfad

C. PEEEIE]

D. FDIct

51. When was the project tiger Launched?
2004-2005
1973-1974
1983-1984
2013-2014

URATSTT B P& T T5 1?
2004-2005
1973-1974
1983-1984
2013-2014

>

OO

Xy

52. Under UNESCO World Heritage site's List which among the following places come?

A Nanda Devi and Valley of Flowers National Parks
B. Jim Corbett National Park

C. Rajaji National Park

D. None of the above

IR fag eRIER werel @ Al ¥ fr=feiad 9 &9 |1 I 377 27
A. HqT 41 IR el B AT IS T
B. ™ ®fde T uTd
C. SITSN TS S
D. T A Brs W T8
53. What does WWF Stands for:
A World Wildlife Federation
Web World Federation

B.
C. World Wildlife Fund
D World Web Federation

P-300/xs (4) 10 15
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WWF & &7 Hdold 8

A. faeq a=olg w8y
B. 9 dos B

C. faeg T=gofiaq @Iy
D Joe d9 BexIE

54. For Documenting rare and endangered species of animals and plants what is
established?
A Green data Book
B Blue data book
C. Red data book
D None of these

SR SR Uil @1 g SR Jevrd Uoifodl & SRIdSiaxvl & fofg aam oI

far T 2
A Y ST gP
B. & Sclgd
C. S SEgdh
D. STH 9 PIS &I
55. In 1992 at Rio De Janeiro, Brazil which declaration was signed?
A Agenda 19
B. Agenda 21
C. Agenda 22
D. Agenda 39

1992 § RIT S SHRAN, g6l § g &N9om g5 R EeR fhd T 97

A. ToieT 19
B. ToleT 21
C. ToleT 22
D. ToieT 39

56. The Wetlands of East Kolkata have been declared as:
A. Tourist site

Biodiversity site

World Heritage Site

Ramsar Site

OO0 w®

PIADIAT & decied DI OINT fHar 741 & Wed I
Redh WA
S fafdear e
[ERCRCNERRSK
MR AT

° 0 >og
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57.

58.

59.

60.

With the Silent Valley Project, which one of the following states in related?
A Himachal Pradesh

B. Uttarakhand
C. Kerala

D Tamil Nadu

ATseic deil gRAeHT fa=felRad & 9 fow o 9 gefda 87

A. REIEERCEE
B. IINES

C. P

D. REERIS

S

In April 2016, the National Green Tribunal Suspended the Environmental Clearance
given to the Proposed hydropower project is Arunachal Pradesh to save the ..........
A Gayals

B. Great Hornbills

C. Medicinal Plants

D. Black-Necked Cranes

IS 2016 H, A HH oo 7 . B FAM B oY w0 yae A
qTd STeffdgygd aRare = &I & T8 qaiarvii doRl &l Feffad #x &)
A. T

B. AEM BHided

C. it ey
D.

BTl Ted dTel IRY

Place where the Threatened animals and plants are protected for special care is
known as?

A. In Situ Conservation

B. Ex-Situ Conversation

C. Wildlife Sanctuary

D. National park

I WIH Sl GheUd Sia] IR Uil &7 A9y ewara & fore Srfera fhar S,
HEATT 87

A. AT HYET0T

B. qg—Rerfar araterm
C.
D.

Tl YR

RIS ST

In Bharatpur District which is known as the Animal Mascot?
A Cheetal Deer
B. Sambar Deer
C. Gharial
D. Sarus Crane
P.T.O.
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TRAGR 5ot # U9 I¥ax & M | fd ST Sirar 82
Fldel favor

A.
B. IR
C. BISRIC]
D. AR D
61. What is an important reason for natural resource conservation?
A Disturb the ecological balance
B. Preserve the biological diversity
C. Disruption of the quality of the environment
D. Hampering the biological species

Ui HARE R BT Ag@yul SR a7 27 uRReIfds dged o fars
A, UIRRefd® Aged &I fdms

B.  Oifde fafdear &1 wReror o
c
D

qTGROT I JOTGT H HaeT

Sifde goTfat &7 9rferd &ear

62. What is the significance of natural resource conservation?
A Maintaining the ecological processes
B Disturbing the ecological balance
C. Extinction of biological species
D Disruption of the quality of the environment

T HATE GREUT & T Aed o7

A. qTRRefre ufsharell &7 9Tg =g
B. qRReIfd Ager ®I faeme
c
D

Sifdes gotifcral 1 faee BIA
qTGROT 1 JOTGT H HaeT

63. What is the correct abbreviation for IUCN?

A International Union for Conservation of Nuts.

B. International Union for Conservation of Nature.

C. International Union for Conservation of Natural habitat.
D. International Union for Conservation of Numbers

IUCN &1 &1 wiferet = = 87

A. TCH @ RV & foru IR wy

B. gapfcr HRe0T & oy SRS e

C. YT A & FRE0 & oy AR Y
D. TRl & RefUT & foly iRy e

P-300/xs (4) 10 18



64.

65.

66.

67.

What is the name of the species whose population has been reduced to a critical
level?

A. Indeterminate
B. Rare

C. Vulnerable

D. Endangered

I UG BT T A & g SEe] THR WX ddh 6H & Te o7
gfaer & usT gor
q

0N wpr

i

What is the name of the species whose population has recently declined and
continues to decline?

A. Endangered

B. Rare

C. Vulnerable

D. Indeterminate

I IS BT T 9 & g S99 § 81 8 § fRrae g 2 iR o aR

A .
B go

C SR NEK]

D gfder # usT g3

How many species of plants contribute to the traditional medicines used by native
peoples around the world?

A 2,500
B 2,000
C 5,000
D 25,000

SR R & ot ATl §RT STIRT @7 S dTell URaRe garsil # dief ol
fopa= gonfadt arTeE <t 87

A. 2,500
B. 2,000
C. 5,000
D. 25,000

How many plant species are used in the production of the drugs that are currently
available on the global market?

A 2%
B. 35%
C. 25%
D. 5%

P.T.O.
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68.

69.

70.

gdaE | df¥ae IR § SUSTeT qaRll & Sdred H fohde Ul @Y USIfaal b1
SYINT fhar SIrar 27

A 2%
B. 35%
C. 25%
D. 5%

The main causes of biodiversity loss today are:
Habitat loss and fragmentation
over-exploitation

Alien species invasions

Co-extinctions

S fafdear 81 & =1 SR &
N UM @1 JHar SR fads
IIH qE
fa<=l gl &1 AT

Ae—faqw B

>

OO0

UOPJP%

When a threatened plant needs urgent measures to save it from extinction, the
desirable approach is

A. in-situ conservation

ex-situ conservation

cryopreservation

bio preservation

OO

STq fhdl FHeuw Ulg &l fagw 89§ 9 & oIy deblel SURT @ 3faeg el
B &, @ Ao gftedT I8 §

A. AT HVET0T
B. Ya—Rerfr HRefor
C. EARIPNCHE]

D. STaAREToT

Which of the following pairs of an animal and a plant represents endangered
organisms in India?
A Banyan and black buck
B. Bentinckia nicobarica and red panda
C. Tamarind and Rhesus monkey
D. Cinchona and leopard
ffoRed 5 & S A1 SR SR U &7 SIreT WRd # o<yt Siai al
gferffera wear 27
TS 3R Hrerr 2oy
dfeafdar FeaRaer iR e ufer

A
B.
C. sﬁ?ﬁsﬁ?WW
D

P-300/xs (4) 10 20



71.

72.

73.

74.

Which of the following is not including under in situ conservation?
A National Park

Biosphere reserve

Sanctuary

Botanical garden

OO0

frforRea 5 & @ o1 i WReTT & ofcela e T8l 27?

A. A e

B. Saded Rord
C. RIRTY

D. qrefade e

The 3R principle is in which of the following order:

A. Reduce, Reuse, Recycle
B. Reuse, Reduce, Recycle
C. Recycle, Reuse, Reduce,
D. None of the above

3R Rygid fA=faRaa # 9 g &9 4 &

A. YIS, IRIDhe HH

B. U WANT & YANT YAEhY]
C. qIAHUT, GASUAN, FHH BV,
D. ST ¥ PIs &

Which of these layers of the atmosphere consists of the ozone layer that is
responsible for absorbing the Ultra-Violet (UV) light?

A Troposphere

B. Mesosphere

C. Stratosphere

D. None of these

IRIHES @ ZTH F B W WA MO R F g1 8 AT WIS () THTeT B
3Ry e & forg R 27

A &Y Hedl

B HRARDRR

C TLCIRBIR

D STH | Plg ol

Which of these are essential non-metallic minerals?
A. Coal, silica, clay, cement

B. Iron, copper, aluminum, zinc

C. Gold, platinum, silver

D Granite, limestone, marble

P.T.O.

P-300/xs (4) 10 21



75.

76.

77.

T I PIH—Y AMIIIH Iefedd @il 27
A. Prgen, faferar, fed, e

B.

o™ O\
C. AT, WllcH, dial
D.

YIS, FAT YRR, ATHRAR

An extensive number of chains interlinked in an ecosystem forma ....... together.
A Food chain

B. Food web

C. Carbon Cycle

D. Nitrogen cycle

v IRRIfAaT T # o1od # ST g SRl B Th fORqga wea vw A

fATPR TH . g B |
A. B IR

B. CERSE

C. CAERRCED

D.  AISgINA dh

Which of these elements is considered to be the largest source of commercial energy
consumption in the world?

A. Nuclear

B. Natural gas

C. Oil

D. Coal

399 9 P19 9T dd fAvg ¥ e ol Wud b a9 g1 Aid AT ST 27
A. ElECap|

B.  UIgfad 4

C. S|

D. PIIAT

Which one of these does NOT refer to the direct use of forest products?
Grass for grazing

Gums and resins

Medicine

Bamboo for baskets

[ Y BIT AT 99 SART B Uel SUANT Bl Fefdd T8 Brdr 27
IR B forv g™Y
e 3R I

_UOPUP%_UOPJP

CEll
BRIl & forg ar

P-300/xs (4) 10 2



78.

79.

80.

81.

In which of these following can we find Brackish water ecosystems?
A Wetlands

B. Streams

C. Deltas

D. Coastal shallows

g 9 o 89 @RI ST aiRRefded o3 a1 dad 87
A. Jeoted

B. XM

C. Kigd|

D. ERESRCH

Which drug is associated with the tea or coffee plant source?
A Camphor

B. Caffeine

C. Thorn Apple

D. Opium Poppy

DI W AT I AT BIOT & U & Ald o Fe6ed 57
A IR

B. PO

C. PicT 4

D. JHIA TR

Which of these is the most naturally occurring and frequent disaster?
A. Tsunami

B. Drought

C. Earthquake

D. Flood

STH | DI A AaT WHIfAd ®Y | BF dlell IR dR—4R 84 dTell TUaT 87
A. A

B. @l

C. qbu

D. EI)

Which two forms of alcohol do we include in biofuels?
A Methanol and Ethanol

B Propanol and Ethanol

C. Propanol and Methanol

D None of the above

B OIT U9 H ehisd & b T wUl Bl IMAA B 27
A. AT 3R ST
B. YAt 3R ST
C. UTHTT 3R AT
D. T & PIS W &

P.T.O.
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82. In which of these years was the Forest Conservation Act amended?

A 1978
B. 1988
C. 1963
D. 1952

g9 O fog ai & g9 GRefor St o dene fhar war or?

A. 1978
B. 1988
C. 1963
D. 1952
83. Which of these elements is present drinking water that can lead to numerous fatal
diseases?

A Phosphorus

B.  Calcium

C.  Arsenic

D. None of the above

STH | BIF A1 a9 U & U H Al BT © Sl By add HIRAT $ BRI a9
Hepdll 87

A BRBIRY

B Bicerd

C SGIE

D. T U BIS W AL

P-300/res () 10 2



84.

85.

Which of these are also known as Detrivores?

A. Decomposers

B. Carnivores

C. Herbivores

D. None of the above

g7 I o Sfgard & 7\ 9§ 97 S 27

A SIPUTSR
B HNATERT
C IMHIERT

D. T U BIS W AL

Which of these sacred groves acts as the gene bank for various wild plants?

A. Mauhak

B. Deorais

C. Jahera

D. None of these

399 9 DI 91 ufdd Suad Afr= SiEren duil & v o9 §6 & w9 § arf dRar
g7

A LIRS

B.  QNEd

C SITeRT

D. ST ¥ PIS T

P.T.O.

P-300/xs (4) 10 25



86. What is the largest source of the world's commercial energy consumption?

A. Coal

B. Qil

C. Natural gas
D. Nuclear

faeg & FIaRIe SHoll Wud &7 Fad g1 Fid =T 27

A. DA

B. SEGEI

[ORE |CARE R

D RHTY]

87. How many biodiversity hotspots are there?

A. 28

B. 18

C. 32

D. 36

fpaeT S fafderan gfewdie €7

A 28
B 18
C 32
D 36

P-300/xs (4) 10 26



88. The objective of Environmetal studies is?

A Raising awareness of environmental issues.
B. To promote ecologically responsible conduct
C. Establish a society that values environmental ethics.

D. All of the above

JTaRUT ST BT SeT 87

A TR el & IR H SRl Tl

B. qRReIft® ©U ¥ RTHER MR & 9g@T oA T

C. TS UH GO DI RATAT Y SIl gaiaRofig Afidadsdr o dg@ <dr &l |

D.  SWIad |
89. Which of the following natural disasters occurs frequently?
A. Floods
B. Earthquake
C. Drought
D. Tsunami

N O\ N

FefeiRed § & & A1 UTgfAad MISN IR—IR AR 57

A. q7¢
B qbu
C el

P-300/xs (4) 10 27



90.

91.

The atmosphere consists of 79% Nitrogen and 21% Oxygen by?

A Weight
B. Volume
C. Density

D. All of these

RIS H 79% TATSSIGTT ToAT 21% SIS &7

A R
B SIRGE]
C BRI

D. Rl

What type of human activity can lower the atmospheric oxygen content?

A. Deforestation
B. Hunting
C. Mining
D. None of these

Pl UPR @1 AFAT TR agHeeta ifaiior AUl &l &H &R Fahell o7
A T B By
B. RmR

C. G-

D.  SWIE H A Plg &l

P-300/xs (4) 10 28



92.

93.

What is Substainable Development?

A Balancing current requirements with those of the future.

B. The advancement of humankind.

C. A balance between human wants and the planet's capacity to supply
resources.

D. All of the above
add faerg wm 27
A. AT STTATIRATS | DI AR B TAIBATS] D AT Hford BT |

B. q9q ST &1 S
C. WY AR 3R U8 DI FAEF] DI ML
D. IR T |

Name the gas that is vital in maintaining atmospheric temperature.
A Oxygen

B. Carbon Dioxide

C. Nitrogen

D. None of the above

I I BT ¥ qdIgY Sl ARGHSARI YA F91¢ k@ H Hecedqul & |

A. CIGRING]

B. HTa STgATRITSS

C. EIEHNE]
D. IWRIFT | H Dl el

P-300/xs (4) 10 29
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94. Who invented the term "ecosystem"?
A Odum
B. Clements

C. Arthur G. Tansley

D. None of these
"aTRReIfcreT " eeq BT MfASHR fas fobar?
A STEH
B FerHeH
c. 3R S
D. ST ¥ IS &
95. Name the power plant that works on the basis of the gravity of earth?

A. Wind farms
B. Geothermal
C. Nuclear Power

D. Hydropower

39 I §I3 &1 79 9a] S gl & TH@IHYI & SR UR B BT 27

A. 9aT B
B. S eINIE
C. URHATY] Joll

D.  Sieldegd

96. Why is radiation dangerous?

A Radiations lead to skin cancer
B. Radiations cause anemia
C. Radiations change body issues
D. Radiations are not stable

P-300/xs (4) 10 30



fafeRor RS FT 27

A ffeer & @ SR BT ®

B. fafd=or & wiifiran g &

c. fafemor e’¥R & St @1 98 <7
D.  fafeRor ReRr 21 &

97. All specie on earth with each other along with their respective environments

collectively constitute:
A Biosphere

B. Atmosphere
C. Hydrosphere

D. Lithosphere

Y] IR [T YSITCr JU-—3fU UITeReT & A AddR AMfed wU A qal &

A. NICEE]
B. AIATaRT
C. STTHS A

D. FJIGE T

98. What is the other name of detrivores?
A. Herbivores
B. Carnivores
C. Decomposers
D. None of the above

P-300/xs (4) 10 31



A IMHIERT
B HNTERY
C SIPUTSR

D. WG H W Py gl
99. The functional aspects of the ecosystem are:
A Energy cycles
B. Nutrient cycles
C. Food chains

D. All of the above
gRRerfa 73 & drRIfdd U8 &

A ol G
B. CIEECED
C.  3MBR ¥Qal
D. W b I

100.  Which of the following is not a reason for the forest loss?

A. Increasing use of wood
B. Extinction of species
C. Extensive use of fuel woods

D. Mining and building dams
frfoRad # | & a1 99 81 &1 SR T8 8°

A. B! BT dadl SUAM

B.  Uolfcrdl &1 < BT

C. U9 B ABISTT DI ATYH STAN]

D. T[4 Yq 91 A
sk sk o sk ook ok ook Rk o ok

P-300/xs (4) 10 32



